

Multiply by 10^{-3} (C)

Find each product.

$$4,9275 \times 10^{-3} =$$

$$0,597 \times 10^{-3} =$$

$$2,42 \times 10^{-3} =$$

$$3,563 \times 10^{-3} =$$

$$2,44 \times 10^{-3} =$$

$$0,17 \times 10^{-3} =$$

$$7,86 \times 10^{-3} =$$

$$0,2265 \times 10^{-3} =$$

$$7,8276 \times 10^{-3} =$$

$$4,6 \times 10^{-3} =$$

$$3,5 \times 10^{-3} =$$

$$9,7 \times 10^{-3} =$$

$$8 \times 10^{-3} =$$

$$4,7297 \times 10^{-3} =$$

$$5,57 \times 10^{-3} =$$

$$2,57 \times 10^{-3} =$$

$$7,8 \times 10^{-3} =$$

$$8,03 \times 10^{-3} =$$

$$0,37 \times 10^{-3} =$$

$$3,8 \times 10^{-3} =$$